(DSMAT31)
ASSIGNMENT-1
B.Sc. DEGREE EXAMINATION, MAY/JUNE-2025
Third Year
MATHEMATICS 1l : RING AND LINEAR ALGEBRA

MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

1. If F is afield, then prove that {0} and F are the only ideals of F .
F 283 1%0 @00l {0} 508050 F oo dr@an F B, e30%e0 @D DETVO0HOG.

2. Define maximal ideal ring. For the ring of integers determine the maximal ideal.
HOIIDE 5B HEASH DEFD0H0E. JToE HoASTrIE ©REHH) DESK EEY 0.

3. Let T:R? - R® be defined by T(1,2)=(3,-1,5), T(0,1) =(2,1,-1). Find T'(x, y) if T is linear.
T:R* > R*% T@1,2)=(3,-1,5), T(0,1)=(2,1,-1) r™ X)Cﬁog&?_\)o T bg‘;l?éﬁgé‘éo)ado T(x,y)
§508%,06.

4. Let T be a linear operator on R®(R) defined by T(x,v,2) =(x +2y, 2y + 3z, 3z —x) for all

x,v,2,€ R*. Find the characteristic roots of 7T .
R?8 3038 o) x,5,z2 05 T(x,y,2)=(x+2y,2y+32,3z-x) ™ JELIODDED R’(R)  awes
D880, T 9508 0ar0. Qe T BwE); erEEIE Horverodd §éoé'sbo&.

1 2 3
5. Show that the matrix is non-derogatory where A=|2 3 4].
3 4 5
1 2 3
A=[2 3 4| ®a0dqpto S8 A @ard H0QF8 @9 HI°008.
3 4 5

6. Show that the linear span L(S) of any subset S of a vector space V(F) is a subspace of
V(F).
V(F) 283°080°%0S5° J@mr D008 Sedood. V(F) 3% L(S) &rodorddn
JoeHod.
7. Find a unit vector orthogonal to (4, 2, 3) in R®.
R® @080°$08° (4, 2, 3) DE$E ©0@0M &0l 05I°0 DEFR0 E505%,08.

8. State and prove Schwartz’s inequality.
gl BRBTHBD (95900, T AETDoDoE.
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ASSIGNMENT-2
B.Sc. DEGREE EXAMINATION, MAY/JUNE-2025
Third Year
MATHEMATICS 1l : RING AND LINEAR ALGEBRA

MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

P.T energy finite integral domain is a field.
(98 DBG JrT 0¥ (HBFID FHO ©PBOOBR BIV0G.

If R is a commutative ring and a € R then Ra ={ra|r € R} is an ideal of R.
R 38 2.8 s‘o@ééﬁeﬁs Bof H0BABD a e R @ond @pty Ra={ra|re R} &8 R

Do), SEEHHOBIIE D DETV0B0G.

If M is a maximal ideal of the rings of integers, then M is generated by prime
integer.

M 638 e osee BwE); Bofi Boog), K83 88 €083 Y M (DT I T o0
T°Q0° &8)A 9YBO0.

If F[x] is the set of all polynomials our a field F then energy ideal in F[x] is a
principal ideal.

Flx] o3 §®o F » o) advdce 28 ®@ond Flx]& (98 Slaleflapertte
(REPINIB.

Let w, and w, are subspaces of a vector space V(F') then w, +w, is a subspace
of V(F') then prove that L(w; Vwy) =w; +w,.

VEBoBTIID V(F) 5 w;, w, & &roHorddne @ond V(F) 35 w, +w,

&POBT TN DB L(w; Uwy) = wy +wy 90 dEI*D0H08&.

Let w be a subspace of a finite dimensional vector space V (F'), then prove that
dim(V/w)=dimV —-dim W .

V(F) D808 H8355°e3 0QB0H0°erd8 w &r0HTSH00 @008

dim(V/w) =dimV —dim W &9 d8rr00d08.

State and prove Rank-Nullity theorem.

§°%3 —BIPgT ?o%"oébooéo [DDD0D AEI*N0H06.

The mapping 7" :V,(R) - V,(R) is defined by 7T (x,y,z) =(x —y,x +2) . Show that
T is a linear transformation.

T:V,(R) > Vy(R) [&)300255"3)& T(x,y,2)=(x-y,x+z) ™ d8Dodn&08. T af
200022 IBH YIS0 W0k,

2 1 2
State Cayley-Hamilton theorem. Verify this theorem for A=| 5 3 3 |. Hence
-1 0 -2

find A™".
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2 1 2
BI-5090 VEToTRY (PHV0B0G. s VixowRy A=| 5 3 3 | 8 WBdrEod.

-1 0 -2
B 2000 AT D K587 0.
310
Show that the matrix A=0 3 0] is not diagonalizable.
0 0 4

P UK DEGAH DBEY 0 S°ESD HIHos.
State and prove Cayley-Hamilton theorem.

$9-Trugs VEToTEY) (HDHD0D AETD0HOE.
@

Find the characteristic roots and the corresponding characteristic vectors of the

8 -6 -2
matrix A={-6 7 —4].
2 -4 3

P IR Bk, erEEIE Sorreren, 08I erEBE D8 057,064,

State and prove Parseval’s identity.
F0YDS Bag); 080 DBFV0D DETV0H0G.

State and prove Bessel’s inequality.
B BAIITHBHI0 DEGD0D DETV0H0E.

Construct on orthonormal basis of V = R*R) using Gram-Schmidt orthogonalization
process from B={(1,-1,2), (0,2,1),(1,2,0)}.

ABToBTFo V= RY(R) By, sgo B={(1,-1,2),(0,2,1),(1,2,0)} $0d [roo-3&

0oDES R mg&‘o &IBPRoD V' § af eoereoe espeoe) m&%o&.
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ASSIGNMENT-1
B.Sc. DEGREE EXAMINATION, MAY/JUNE-2025
Third Year
MATHEMATICS - IV: NUMERICAL ANALYSIS

MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

1. Prove that 6 =EY2-E 2,
S=EY? - E™2 &9 $55°005.

2. Find the missing term in the following data.
x: 45 50 55 60
flx): 3.0 — 2.0 0.225

D DPESD S00d (©9080)H0 ©osBgEN0 Tgo° JoBoHod.

3. Find the second difference of the polynomial x*-12x%+42x?-30x+9 with interval of
differencing h = 2.

h=2 @ond f(x)=x"-12x" +42x% = 30x + 9 (HDOASIDE 2 g PoeRY EHOR"NODW.
4. Write Gauss forward and Gauss backward interpolation formula.
R0 A8THH0% H080520 YBHH0D QI @redy [FPosnbw.

1
+x

dx by Trapezoidal rule with A =0.1.

1
5. Evaluate Io 1

1
1+x
6. Solve the following system of equations by Gauss elimination method.

1808 DdoESed Z)Zso“)‘géo (_\"’fo—e»‘é)o 7%‘&‘&)63@ °g0° > BoWols.

dx Q Kead Do%ob.

h=0.1 & D300 BBIBY DO0D0 To Jj

2x, +6x, —x3 =23, 4x, —x, +3x3 =9, 3x, +x, +2x5 =13

7. Solve % =1+y%, ¥(0)=0 by Picard’s method of successive approximations.
x
050y rE0DHBE &g o0 2E S $093@BRod Z—y =1+y%, ¥(0)=0 & JWESETR) A BoBodw.
X

8. Evaluate Ez y dx using Weddle’s rule from the following table.

x: 0 2 4 o6 8 10 12
0 22 30 27 18 7 0

2 9G¥ 5008 IBS dALITRY &9BTR0d [y dx B Kead Basod.
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ASSIGNMENT-2
B.Sc. DEGREE EXAMINATION, MAY/JUNE-2025
Third Year
MATHEMATICS - IV: NUMERICAL ANALYSIS

MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

2

(i)  Prove that y1+o2u? =1+%.
o2
\)1+02,U2 :1+7 @6\)_"90\)0:)0&.

(i) Prove that nth order forward difference of an nt degree polynomial p,(x) is
constant.

n® PPBY WTVIB p, (x) BaE) n® DBHIE YBEHDHD Pare a8 QET°B ©D BID0G.

(1)  State and prove Newton’s backward interpolation formula.

BIege0R) BEHOD ©0BBGED W EERY) @R dETD0Hos.

(1)) Given u,=580, u, =556, u, =520 and wu, =385 find u; using Lagrange’s
interpolation formula.

BUToE @oBBED WrEPR) GRBITR0D P ETLOFID D0G Uy DVOIRO EHORRH.

(1) State and prove Gauss Backward formula.
R BB°NH500 ©0BBGED WP B°R) (DHD0D, AEI*D0DIDN.

(il) Using Gauss forward formula, find f(3.3) from the following table.

x 1 2 3 4 5
y=f(x) 15.30 15.10 15.00 14.50 14.00

P 9G¥ 5009 [(3.3) 20D T YB DD Q@) SDBIR0D EHOR"H00D.
(1) State and prove Sterling’s formula.

QB0 Aoy (D00, DETDOBIIY.
(i1)) Use Bessel’s formula to evaluate f(25) from the following data.
1808 &TroHw 0dk BHD) ?owq;oéo“)oo 00 f(25) EoR"H0DD.

x 10 20 30 40
Yy 1.1 2 44 179
State and prove Trapezoidal rule.

VD00’ DB TFIIERY (DDD0D DEID0DH0G&.
5.2
Evaluate L logx dx by using Weddle’s rule.

B8 TSR DDA L“ logx dix @), Derdidd ESRBI50.

(i)  Solve the equation x® +2x% + 0.4 =0 using Newton—Raphson method.
2% 420 +0.4 =0 DDOEETRE BImg0S~ TS DG B TKT° SaTerRY EHOATHID.
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(i)

(b) @

(i)

Find a root of the equation by iteration method 3x =cosx +1.
3x = cosx +1 VNEEETDE PIBE JGEH0 gD Horerd) ERORTIDW.

Solve the following system of equations by Gauss-Seidal method. Iterate upto two
iterations.
1808 DdoESes bgﬁ‘éé& (_\”’fo—z\zcﬁeg ‘&)Cqﬁ)é’si °g0° B0oWol. B0 DIBIE DHD

§508%,08.
27x+6y—2z=85; 6x+15y+2z=T72; x+y+54z=110.
Solve the equations 2x; +x,+x;=10; 3x; +2x, +3x,=18; x; +4x, +9x, =16

using Gauss-Elimination method.
P 0BEEEDNO[0 FoD-IOWV A DG S argor FBoBos.
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ASSIGNMENT-1
B.Sc. DEGREE EXAMINATION, MAY/JUNE-2025

Third Year

STATISTICS — III — APPLIED STATISTICS
MAXIMUM MARKS :30

ANSWER ALL QUESTIONS

What are various methods of allocating a sample in Stratified Sampling?

2858000 $B3057mS” HHTPRY Teran0D dDE DB IR0 ?

What are the types of sampling techniques and explain?

DH0TTSD S5reRo BO)Tredd 9980D0k.

Explain ANOVA one-way classification.
ANOVA bgbyg Z)Qgtﬁs’aéo DHBoVok.

Explain ANOVA two way classification.
ANOVA 8¢dos d°8 é@gtﬁs@m DHB0H0k.

What are the advantages and disadvantages of CRD and its applications?
CRD 5080520 @°0 89058 0°e0, (2@BI°esmren 508050 (DI esTred (3005006
Explain RBD.

RBD 9 9%80%06&.

How to construct P-Chart.

P-33500 203350000 89)06.

What are the applications of C-Chart?

C -960500 BE); 90T D000 Se)Hn?

What is an abridged life tables? What are it’s components?
V08D yED BIH DK 008 INE3? T3 FrrreDd Beyod.

Explain functions of C.S.O.
C.S.0 cﬁwgb DE0ORNY DHBOYID.
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ASSIGNMENT-2
B.Sc. DEGREE EXAMINATION, MAY/JUNE-2025
Third Year
STATISTICS — III — APPLIED STATISTICS
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

Explain mortality rates.

D087 DVOR0 DHBODNW.

Explain source of population data.

BT STCOBO B, HTrered) dHBovod.
Explain Ratio to trend method and link relative method.
&3 ‘&)Cqé)@é’. QYPB HoBASw 908 Do2008% ‘&)Cqé)@&) DHBOYDW.
Explain components of time series.

PR3 BoE); WOTR IHB0HOE.

Explain Base Shifting and Splicing.

?3&5 $55°8)é DB WWOADY DHBoYIw.
Explain how to construction of cost of living index number.
é:ﬁézﬁéojo QDY Doy DTRYETRY DHBOYD.
Define enumeration.

KEad0 DBgD0W0s.

Systematic Sampling.

[ERSMABVEIEIRE

ANOVA.

9 H)® IBAed

Define SQC.

SQC dEDOYDY0.

Define Specific Birth rate.

B3, B30T Bedo DYFDIOBID.

Uses of R — Chart.

R — 960500 &0330°reen.

Life table.

2% D&,

Time Series.

SPePHOMOEIDVMT [FE0ED.

Uses of index number.

20°H f“oogpeg GBI,

Official Statistics.

9 Q38030 Kegeoseen.
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ASSIGNMENT-1
B.Sc. DEGREE EXAMINATION, MAY/JUNE-2025
Third Year

STATISTICS-IV : OPERATIONAL RESEARCH, COMPUTER PROG. AND NUMERICAL ANALYSIS
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MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

Explain the scope of operations research.
DBFED DB|80%H Bavk); DBED 9HB0BoE.

Solve the following assignment problem.
808 &PAIV0E5 WHIVFH FPovos.

A B C D

I /71 4 6 3
myo9 7 10 9
Imf4 5 11 7
Ivi8 7 8 5

Solve the following LPP graphicqlly.
1808 JEPB (DerdE DIV S ‘&)ge? °g0° e BoWods.

Maximize (XBQE8e) z =2, + 3, ;
Subject to the constraints, d20¢H0E &

Xyy X9 £30, 2, —x4 20, x5 23,0<x;, <20 and (HoBosw) 0<x, <12.

Explain the procedure for solving a given LPP by simplex method.

AN DEDIS (DeDE ARSIV ?oo':.w)g“) ‘&)Cqé)@ o°g0° ‘&)8‘%803 DR DHBovod:.

For the game with the following payoff matrix, determine the optimum strategies and
the value of the game.

BoB D-eH Sr¥88 ew §%0 ePoRBH Pegrer BB e B, deudB

DY 000 o&.
Po

Pi(5 1
3 4

Solve the game whose payoff matrix is given by
-5 HBE BN 36050 R0 0.
Player A
(Bese8oc A)

A Ay As
B: 1 3 1
Player B B: 0 -4 -3

(Bese8o¢ B)

Bs 1 5 -1
Explain flow charts and decision tables.

TRy BB G0 Bandydo 9580%0sk.
Explain visual display unit and floppy disk.
DerdS G A $o8A50 NGB0 DHBoWOG.



(DSSTT32)
ASSIGNMENT-2
B.Sc. DEGREE EXAMINATION, MAY/JUNE-2025
Third Year

STATISTICS-IV : OPERATIONAL RESEARCH, COMPUTER PROG. AND NUMERICAL ANALYSIS

1. (a)
(b)
2. (a)
(b)
3. (a)
(b)
4. (a)
(b)
5. (a)
(b)

(©

MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

Explain constants and strings.

@0M) DBAW =S Poe5Hdo 5Bovod.

Explain loopings — GOTO, IF-THEN, FOR-NEXT.
wi&oﬁQ - GOTO, IF-THEN, FOR-NEXT o0 9580%06.

Construct a forward difference table from the following data.
1808 SarosHon dood DD B¢ ‘Soégééo @Géobo&.
x 0 1 2 3 4

y» 1 1.5 22 31 4.6
State and prove Lagranges interpolation formula.

B|0oe? e0BBFEN WIPT°R) (DHD0D HBAW DEI*D0H0&.

6

Evaluate .[

0

1
1+x

dx by Trapezoidal rule.

2

1

. dx 50 K30H08.
+x

6
167 e00ES DOHIDN To° j
0

rd
State and prove Simpson’s 3 rule.

rd
%5008) % RSB0 (95908 H9BAHN DETDODIB.

Find the root of the equation f(x)=x” —2x —5 Regular — Falsi method.
30506 - 2GS wrgoe f(x) = x° —2x -5 &R DEEETDE Darerd) ENR"H0k.

Solve the system of equations:
3x+y-2=3;2x—-8y+z=-5; x —2y+ 9z =8 by Gauss-Seidel method.

R-ES DES 50> (808 WEFeTen Podod.

3x+y-2=3,2x-8y+z=-5;x—-2y+9z=8

What is an unbalanced transportation problem?
@VPIBOOY BT°ET WDV @08 IDES?

What is the meaning of operations research?
DBFET DB B, ©F0 ANE3?

Define sequencing problem.



(d)

(e)

®

(g

(h)

@

0

@BOEH0 VBV DYZHOW0s.

Define optimum solution.

VPOAB AR A EIN0 DELV0H0E.

Define unbounded solution.

@‘36&)%:)03 QBRI DESD0H0G.

Define saddle point.

S DOEINDY DEII0D0E.

Write the Newton’s back-ward interpolation formula.
BIge0m BT DD ©oBHBIED DANIITR) 05006,

th
Write Simpson’s 3 rule.

SRS % DOPIDIDNBY [°A300E.
Write the formulae for trapezoidal rule.
1839e°000%S DOHINN BE), ATB°RY) [FPA0E.

Explain Newton — Raphson method.
WéeoS—O"i)foS ‘&)g A HB0H0&.
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ASSIGNMENT-1
B.Sc. DEGREE EXAMINATION, MAY/JUNE-2025

Third Year

COMPUTER SCIENCE III — MODERN DATABASE MANAGEMENT SYSTEM
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

1. Explain the classification of database management system.
GereD Y HgHR HBEEK 9HB0H0G.
(&) 8}

2. What is Entity clustering?
o363 EQ080h 08 A3 ?

3. What is Normalization? Explain its advantages.

Normalization €085 d9¢3? &° (IBIeesTred) 9980H08.

4. How to process single tables?

Single tables Jer [P0 DASTO?

5. Explain the roles of data and database administrators.

Toea> DOBOIW e D DTPGIPEIO o BOd0 HHBoHok.

6. Explain in detail about Three-Schema architecture for database development.

GerBD o8 500 [B-0)B @8),B5)5 B0 D580 29800d.

7. How to specifying constraints in
supertype/subtype relations? Explain with example.

supertype/subtype 855‘&\5‘366 @(éo&)e)éo NI 3)8"2;?\3"@? SIS 8’ 9980508,

8. Explain various Normal forms with example.

99¢ Normal forms &oesrSee&® 9580%908.

9. Write about Embedded SQL and Dynamic SQL.
QoBwE SQL H508050 G HE SQL K080 3005006

10. Describe the establishing client/server security in detail.

The establishing 37 gwoeg/bdogg g S3BH00 HEor HBoH 0.
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ASSIGNMENT-2
B.Sc. DEGREE EXAMINATION, MAY/JUNE-2025

Third Year

COMPUTER SCIENCE III — MODERN DATABASE MANAGEMENT SYSTEM
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

1. Explain the range of database applications.

GerR @éﬁ‘&é DBBR 580H06&.

2. What is database development?

IR P @0 A3 ?

3. What are the modelling rules of the organization?

D0g B, DrcsdoR DD I3 ?

4. Write about EER modelling.

EER d5°¢%90f 50809 [3°05006.

5. Briefly explain Integrity constraints.

Integrity constraints K0809 £9or dHBoBdos.

6. Explain about optimizing for query performance.

Query performance §%d0 620)335 DASrE0 K080 9580508.
7. Embedded sub queries.

JdoB&& sub queries.

8. What are triggers?
18318y @083 DD0e3?

9. Client/server issues.

E000065 /Y5E DH0d5e.
10. Data dictionaries.

Gt DP0LVeV.
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ASSIGNMENT-1
B.Sc. DEGREE EXAMINATION, MAY/JUNE-2025

Third Year
COMPUTER SCIENCE IV — VISUAL PROGRAMMING

MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

How do you create a pie chart application in detail?

P T°§ &8RS0 DIJBOrT Jee Jyadesa?

Explain the features and specifications of OLE.

LIS 8s B8, YOPEAI 0 D9800,

Discuss about a string functions and math functions in detail.

szo)oﬁ e D80S KB Do Ko80d JIJYTore WByowdodk.

How do you explain simple active-X control with the MFC?
DoAYE® 0D RS-y SoESey Jer 95882

Explain about visual C++ windows development tools.
DeeHS N4+ DoED éé@b&oeg Sy 1809 dHBoH0sG.
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Third Year
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MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

. How do you convert streamlining I/O with C++ from STREAM-H to I0 STREAM-H?

D/850 V++ & E00EEB0BERY RS- 009 D |PDI-WPD T IO SIAE?

. Discuss about class wizards with its applications.

BEND 5370 AL K0B0D o eaéo:sga"e)@‘; é@l)oéo&.

. What are the header files? Write methods in CTYPE-H in detail.

305 &) A2 CTYPE-H &° Hg 80030 99980 oeaioé.

. How do you develop the word processor applications?

Z)é 008 ea?gé}ﬁ@m dexe eaz:):bq)g DArE?

. Write the salient features of windows programming and its concept.

DOE'Q [DEITA0R BE); DY OFETLL HIBASW TR gHHH TG

BDSCSC32)



